
 
Crossword Puzzle 5 

 
 
 
 
 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Across 
1 & 2. (Two-word phrase)- Fourier 

transform exists if a signal is this 
3.  (2 words, with 9-Down) Such  transfer 

functions cannot produce a vanishing 
output in response to a growing input 

4. Fractions useful in s-domain, or 
unethical judge 

10. Part 2 of 5-Down 

Down 
5. (2 words, with 10-Across) Time-

varying systems don't have this 
6. Too many of these make it so loud! 
7. These trains often roll in the 

discrete-time world 
8. Downhill magnitude speed for 

relative degree 3, in the long run. 
9. Part 2 of “3-Across" 
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